A STORY OF UNITS

Lesson 6 Exit Ticket m

Name Date

1. A parking lot has space for 48 cars. Six cars can park in 1 row. Break apart 48 to find how many rows
there are in the parking lot.

Ug 2 (, = (30+0) + (18C)
4= 5+ 3
q4gxb = ¢

Malia solves 6 x 7 using (5 x 7) + 7. Leonidas solves 6 x 7 using (6 x 5) + (6 x 2). Who is correct? Draw a
picture to help explain your answer.
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EUREKA Lesson 6: Use the distributive property as a strategy to multiply and divide

1
MATH" using units of 6 and 7. 8

This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015 Great Minds. eureka-math.org
G3-M3-TE-13.0-05.2015



